

H^s wave front set for Schrödinger equations with sub-quadratic potential

Fumihito Abe and Keiichi Kato

(Received February 29, 2020)

Abstract. The aim of this work is to study regularity of solutions of the initial value problem for the Schrödinger equations with sub-quadratic potential. More precisely, we determine the H^s wave front sets of solutions from the behavior at infinity of the initial data by using the characterization of the H^s wave front set via wave packet transform.

AMS 2010 Mathematics Subject Classification. 35Q41, 35A18, 35A22

Key words and phrases. H^s wave front set, Schrödinger equations, wave packet transform.

§1. Introduction

In this paper, we study regularity of solutions of the initial value problem for the following Schrödinger equations with time dependent sub-quadratic potential,

$$(1.1) \quad \begin{cases} i\partial_t u(t, x) + \frac{1}{2}\Delta u(t, x) = V(t, x)u(t, x), & (t, x) \in \mathbb{R} \times \mathbb{R}^n, \\ u(0, x) = u_0(x), & x \in \mathbb{R}^n, \end{cases}$$

where $i = \sqrt{-1}$, $u : \mathbb{R} \times \mathbb{R}^n \rightarrow \mathbb{C}$, $\partial_t = \frac{\partial}{\partial t}$, $\Delta = \sum_{j=1}^n \frac{\partial^2}{\partial x_j^2}$ and $V(t, x)$ is a real valued function.

A. Hassell and J. Wunsch [8] and S. Nakamura [17], [18] have studied the characterization of the wave front sets of solutions to Schrödinger equations in terms of initial data. In 2009, S. Nakamura [17] has determined the C^∞ wave front sets of solutions to Schrödinger equations with sub-linear potential. He has shown that $(x', \xi') \notin WF(e^{-itH_0}u_0)$ if and only if there exists $a(x, \xi) \in C_0^\infty(\mathbb{R}^{2n})$ such that $a(x', \xi') \neq 0$ and $\|a(x + tD_x, hD_x)u_0\| = O(h^\infty)$ as $h \rightarrow 0$, where $u_0 \in L^2(\mathbb{R}^n)$ and H_0 is the free Schrödinger operator; that is, the

propagation of singularities for Schrödinger equations does not include effect of potential in the case of sub-linear potential. In 2009, S. Nakamura [18] has extended the result of [17] to sub-quadratic potential cases. In the case of sub-quadratic potential, the singularities of the solutions to Schrödinger equations propagate along the classical flow including effect of potential. In 2014, K. Horie and S. Nakamura [10] have treated the case that $\rho < 3/2$ by using Dollard type approximate solutions to the Hamilton-Jacobi equation and have also introduced an example of linear growth potential. S. Ito and one of the authors [13] have determined the C^∞ wave front sets of solutions to Schrödinger equations with time dependent sub-quadratic potential by using wave packet transform. In this study, we shall determine the H^s wave front sets of solutions to the Schrödinger equations (1.1) with time dependent sub-quadratic potential. We assume the following on $V(t, x)$.

Assumption A. $V(t, x)$ is a real valued function in $C^\infty(\mathbb{R} \times \mathbb{R}^n)$ and there exists a real constant ρ satisfying $\rho < 2$ such that for all multi-indices α

$$|\partial_x^\alpha V(t, x)| \leq C_\alpha (1 + |x|)^{\rho - |\alpha|}$$

for some $C_\alpha > 0$ and for all $(t, x) \in \mathbb{R} \times \mathbb{R}^n$.

In order to state our results precisely, we prepare several notations and give the definition of the H^s wave front set and wave packet transform which is defined by A. Córdoba and C. Fefferman [1]. We denote $\hat{f}(\xi) = \mathcal{F}[f](\xi) = (2\pi)^{-n/2} \int_{\mathbb{R}^n} f(x) e^{-ix\xi} dx$ by Fourier transform of f and $e^{it\Delta/2}$ by the evolution operator of the free Schrödinger equation. For $x = (x_1, \dots, x_n) \in \mathbb{R}^n$, we write $\langle x \rangle = (1 + |x|^2)^{1/2}$ with $|x|^2 = x_1^2 + x_2^2 + \dots + x_n^2$. For $\xi_0 \in \mathbb{R}^n \setminus \{0\}$, a conic neighborhood Γ of ξ_0 is a subset in \mathbb{R}^n such that $\xi \in \Gamma$ and $\alpha > 0$ imply $\alpha\xi \in \Gamma$. Let $x(\tau; t, x, \xi)$ and $\xi(\tau; t, x, \xi)$ be the solutions to

$$(1.2) \quad \begin{cases} \dot{x}(\tau) = \xi(\tau), & x(t) = x, \\ \dot{\xi}(\tau) = -\nabla_x V(\tau, x(\tau)), & \xi(t) = \xi, \end{cases}$$

where $\dot{x}(t)$ and $\dot{\xi}(t)$ stand for the derivatives of $x(t)$ and $\xi(t)$ respectively.

Definition 1.1 (Wave packet transform). Let $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$. For $f \in \mathcal{S}'(\mathbb{R}^n)$, the wave packet transform $W_\varphi f(x, \xi)$ of f with basic wave packet φ is defined as

$$W_\varphi f(x, \xi) = \int_{\mathbb{R}^n} \overline{\varphi(y-x)} f(y) e^{-iy\xi} dy, \quad x, \xi \in \mathbb{R}^n.$$

Remark 1.2. If f is in $L^2(\mathbb{R}^n)$,

$$\|W_\varphi f\|_{L^2(\mathbb{R}^{2n})} = \|\varphi\|_{L^2(\mathbb{R}^n)} \|f\|_{L^2(\mathbb{R}^n)}$$

(Proof of Remark 1.2). Since $W_\varphi f(x, \xi) = \mathcal{F}_{y \rightarrow \xi} \left[\overline{\varphi(y-x)} f(y) \right]$, Plancherel's theorem shows

$$\|W_\varphi f\|_{L^2(\mathbb{R}^{2n})} = \left\| \overline{\varphi(y-x)} f(y) \right\|_{L^2(\mathbb{R}_x^n \times \mathbb{R}_y^n)} = \|\varphi\|_{L^2(\mathbb{R}^n)} \|f\|_{L^2(\mathbb{R}^n)}.$$

□

Definition 1.3 (H^s wave front set of f). For $f \in \mathcal{S}'(\mathbb{R}^n)$, $WF_{H^s}(f)$ a subset in $\mathbb{R}^n \times (\mathbb{R}^n \setminus \{0\})$ is said to be H^s wave front set if the following condition holds:

$(x_0, \xi_0) \notin WF_{H^s}(f)$ if and only if there exist a function $\chi \in C_0^\infty(\mathbb{R}^n)$ with $\chi(x_0) \neq 0$ and a conic neighborhood Γ of ξ_0 in $\mathbb{R}^n \setminus \{0\}$ such that $\langle \xi \rangle^s |\widehat{\chi f}(\xi)| \in L^2(\Gamma)$.

The following theorem is our main result.

Theorem 1.4. Let u be a solution of (1.1) in $C(\mathbb{R}; L^2(\mathbb{R}^n))$ under Assumption A. For $s > 0$, the following statements are equivalent.

(i) $(x_0, \xi_0) \notin WF_{H^s}[u(t)]$.

(ii) There exist a neighborhood K of x_0 and a neighborhood U of ξ_0 such that

$$(1.3) \quad \int_1^\infty \lambda^{2s+n-1} \left\| W_{\varphi_\lambda^{(-t)}} u_0(x_\lambda(0), \xi_\lambda(0)) \right\|_{L^2(K \times U)}^2 d\lambda < +\infty$$

for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, where $x_\lambda(0) = x(0; t, x, \lambda\xi)$, $\xi_\lambda(0) = \xi(0; t, x, \lambda\xi)$, $\varphi_\lambda^{(t)}(x) = e^{it\Delta/2} \varphi_\lambda(x)$ with $\varphi_\lambda(x) = \lambda^{nb/2} \varphi(\lambda^b x)$ and $b = \min \left\{ \frac{2-\rho}{4}, \frac{1}{4} \right\}$.

(iii) There exist $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, a neighborhood K of x_0 and a neighborhood U of ξ_0 such that (1.3) holds, where $\varphi_\lambda^{(t)}(x)$ is the same as in (ii).

Theorem 1.5. Let u be a solution of (1.1) in $C(\mathbb{R}; L^2(\mathbb{R}^n))$ under Assumption A with $\rho < 1$. For $s > 0$, the following statements are equivalent.

(i) $(x_0, \xi_0) \notin WF_{H^s}[u(t)]$.

(ii) There exist a neighborhood K of x_0 and a neighborhood U of ξ_0 such that

$$(1.4) \quad \int_1^\infty \lambda^{2s+n-1} \left\| W_{\varphi_\lambda^{(-t)}} u_0(x - \lambda\xi t, \lambda\xi) \right\|_{L^2(K \times U)}^2 d\lambda < +\infty$$

for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, where $\varphi_\lambda^{(t)}(x) = e^{it\Delta/2} \varphi_\lambda(x)$ with $\varphi_\lambda(x) = \lambda^{nb/2} \varphi(\lambda^b x)$ and $b = \min \left\{ \frac{1-\rho}{2}, \frac{1}{4} \right\}$.

(iii) There exist $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, a neighborhood K of x_0 and a neighborhood U of ξ_0 such that (1.4) holds, where $\varphi_\lambda^{(t)}(x)$ is the same as in (ii).

Remark 1.6. If there exists a solution of (1.1) in $C(\mathbb{R}; H^r(\mathbb{R}^n))$ with $r \in \mathbb{R}$, Theorem 1.4 and Theorem 1.5 hold for $s > r$.

Remark 1.7. The assertion of Theorem 1.4 and of Theorem 1.5 is valid if $\partial_x^\alpha V(t, x)$ is continuous in $\mathbb{R} \times \mathbb{R}^n$ for $|\alpha| \leq l$ with

$$l > \max \left\{ 8s + 4n + 4\rho, \frac{8s + 4n + 4}{2 - \rho}, \frac{4s + 2n + 2}{1 - \rho} \right\},$$

which is however far from the best possible.

In 1970, L. Hörmander has introduced the wave front set (see [9]). The wave front set characterizes the singularities of generalized function f not only in which point f is singular but also in which direction f is singular at the point. He has shown that the wave front sets of the solutions to hyperbolic equation of principal type propagate along the associate Hamilton flow. R. Lascar [15] has treated firstly singularities of solutions microlocally for Schrödinger equations. He has studied propagation of singularities for Schrödinger equations by using quasi-homogeneous wave front set which he has introduced. C. Parenti and F. Segala [21] and T. Sakurai [22] have treated the singularities of solutions to Schrödinger equations in the same way. The singularities of the solutions to Schrödinger equations immediately go to the infinity if the initial data decays rapidly at infinity. W. Craig, T. Kappeler and W. Strauss [2] have treated this type of smoothing property microlocally. This type of microlocal smoothing property has been studied by several authors, including S. Doi [4], [5], S. Nakamura [16], T. Ōkaji [19], [20] and L. Robbiano and C. Zuily [23]. As stated in the beginning of this section, A. Hassell and J. Wunsch [8] have treated the problem in the framework of scattering metric and S. Nakamura [18] has treated the problem in semi-classical way. S. Ito and one of the authors [13] have treated the problem by way of wave packet transform.

The rest of the paper is organized as follows. In Section 2, we introduce characterization of wave front set via wave packet transform. In Section 3, we introduce transformed equation of (1.1) via wave packet transform according to [11] and [13], which is used for the proof of Theorem 1.4. In Section 4, we prove Theorem 1.4. In Section 5, we prove Lemma 4.1, which is introduced in Section 4. In Section 6, we prove Theorem 1.5.

§2. Characterization of wave front set

In this section, we introduce the characterization of the H^s wave front set via wave packet transform due to K. Kato, M. Kobayashi and S. Ito [14], which

plays an important role for the proof of Theorem 1.4 and Theorem 1.5.

Proposition 2.1 (K. Kato, M. Kobayashi and S. Ito [14] Theorem 1.2). *Let $s \in \mathbb{R}$, $0 < b < 1$, $(x_0, \xi_0) \in \mathbb{R}^n \times (\mathbb{R}^n \setminus \{0\})$, and $u \in \mathcal{S}'(\mathbb{R}^n)$. The following statements are equivalent.*

(i) $(x_0, \xi_0) \notin WF_{H^s}(u)$.

(ii) *There exist a neighborhood K of x_0 and a neighborhood U of ξ_0 such that*

$$\int_1^\infty \lambda^{2s+n-1} \|W_{\varphi_\lambda} u(x, \lambda\xi)\|_{L^2(K \times U)}^2 d\lambda < +\infty$$

for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, where $\varphi_\lambda(x) = \lambda^{nb/2} \varphi(\lambda^b x)$.

(iii) *There exist $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, a neighborhood K of x_0 and a neighborhood U of ξ_0 such that*

$$\int_1^\infty \lambda^{2s+n-1} \|W_{\varphi_\lambda} u(x, \lambda\xi)\|_{L^2(K \times U)}^2 d\lambda < +\infty,$$

where $\varphi_\lambda(x) = \lambda^{nb/2} \varphi(\lambda^b x)$.

Remark 2.2. *For the C^∞ wave front set, G. B. Folland has firstly given the characterization in terms of wave packet transform with a positive symmetric Schwartz's function φ in [6]. T. Ōkaji [19] has given the characterization with the assumption that φ satisfies $\int_{\mathbb{R}^n} x^\alpha \varphi(x) dx \neq 0$ for some multi-index α . In [14], K. Kato, M. Kobayashi and S. Ito have removed any restriction on basic wave packet.*

Remark 2.3. *For the H^s wave front set, P. Gérard [7] has shown the equivalence between (i) and (iii) with $\varphi(x) = e^{-x^2}$ for $b = \frac{1}{2}$ (Proof is also in J. M. Delort [3]). In [19], T. Ōkaji has shown that (ii) implies (i) if φ satisfies $\int_{\mathbb{R}^n} \varphi(x) dx \neq 0$ for $b = \frac{1}{2}$. Conversely T. Ōkaji has shown that (i) with $s = s_0$ implies (ii) with $s = s_0 - \varepsilon$ for all $\varepsilon > 0$ in addition to the condition of φ . In [14], K. Kato, M. Kobayashi and S. Ito have shown Proposition 2.1 for $0 < b < 1$ without any restriction on basic wave packet.*

§3. Transformed equation via wave packet transform

In K. Kato and S. Ito [11] and [13], the initial value problem (1.1) is transformed to

$$(3.1) \quad \begin{cases} \left(i\partial_t + i\xi \cdot \nabla_x - i\nabla_x V(t, x) \cdot \nabla_\xi - \frac{1}{2}|\xi|^2 - \tilde{V}(t, x) \right) W_{\varphi(t)} u(t, x, \xi) \\ \hspace{15em} = R_{\varphi(t)} u(t, x, \xi), \\ W_{\varphi(0)} u(0, x, \xi) = W_\varphi u_0(x, \xi), \end{cases}$$

where $\tilde{V}(t, x) = V(t, x) - \nabla_x V(t, x) \cdot x$,

$$\begin{aligned} & R_{\varphi^{(t)}} u(t, x, \xi) \\ = & 2 \sum_{|\alpha|=2} \frac{1}{\alpha!} \int \overline{\varphi^{(t)}(y-x)} \\ & \times \left(\int_0^1 \partial_x^\alpha V(t, x + \theta(y-x)) (1-\theta) d\theta \right) (y-x)^\alpha u(t, y) e^{-iy\xi} dy \end{aligned}$$

and $\varphi^{(t)}(x) = e^{it\Delta/2}\varphi$ with $\varphi(x) \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$. For reader's convenience, we briefly give a deduction of (3.1) from (1.1). The first term $i\partial_t u(t, \cdot)$ and the second term $\frac{1}{2}\Delta u(t, \cdot)$ of (1.1) are transformed to

$$\begin{aligned} & W_{\varphi^{(t)}} [i\partial_t u](t, x, \xi) + W_{\varphi^{(t)}} \left[\frac{1}{2}\Delta u \right] (t, x, \xi) \\ = & i\partial_t W_{\varphi^{(t)}} u(t, x, \xi) + W_{i\partial_t \varphi^{(t)}} u(t, x, \xi) \\ (3.2) \quad & + \frac{1}{2} \int \Delta_y \left\{ \overline{\varphi^{(t)}(y-x)} e^{-iy\xi} \right\} u(t, y) dy \\ = & \left(i\partial_t + i\xi \cdot \nabla_x - \frac{1}{2}|\xi|^2 \right) W_{\varphi^{(t)}} u(t, x, \xi) + W_{\{i\partial_t \varphi^{(t)} + \frac{1}{2}\Delta \varphi^{(t)}\}} u(t, x, \xi). \end{aligned}$$

By Taylor's expansion of $V(t, y) = V(t, x + (y-x))$ with respect to $y-x$, $V(t, \cdot)u(t, \cdot)$ is transformed to

$$\begin{aligned} & W_{\varphi^{(t)}} [Vu](t, x, \xi) \\ = & \int \overline{\varphi^{(t)}(y-x)} \left\{ V(t, x) + \nabla_x V(t, x) \cdot (y-x) \right. \\ (3.3) \quad & \left. + 2 \sum_{|\alpha|=2} \frac{(y-x)^\alpha}{\alpha!} \int_0^1 \partial_x^\alpha V(t, x + \theta(y-x)) (1-\theta) d\theta \right\} \\ & \times u(t, y) e^{-iy\xi} dy \\ = & \tilde{V}(t, x) W_{\varphi^{(t)}} u(t, x, \xi) + i\nabla_x V(t, x) \cdot \nabla_\xi W_{\varphi^{(t)}} u(t, x, \xi) \\ & + R_{\varphi^{(t)}} u(t, x, \xi). \end{aligned}$$

Taking $\varphi^{(t)}(x)$ as the solution to the free Schrödinger equation

$$\begin{cases} i\partial_t \varphi(t, x) + \frac{1}{2}\Delta \varphi(t, x) = 0, \\ \varphi(0, x) = \varphi(x) \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}, \end{cases}$$

we have (3.1) from (3.2) and (3.3).

Solving (3.1) by the method of characteristics, we have the following integral equation

$$\begin{aligned}
 & W_{\varphi(t)} u(t, x, \xi) \\
 &= e^{-i \int_0^t \left\{ \frac{1}{2} |\xi(\tau; t, x, \xi)|^2 + \tilde{V}(\tau, x(\tau; t, x, \xi)) \right\} d\tau} W_{\varphi} u_0(x(0; t, x, \xi), \xi(0; t, x, \xi)) \\
 (3.4) \quad & - i \int_0^t e^{-i \int_{\tau}^t \left\{ \frac{1}{2} |\xi(\tau_1; t, x, \xi)|^2 + \tilde{V}(\tau_1, x(\tau_1; t, x, \xi)) \right\} d\tau_1} \\
 & \quad \times R_{\varphi(t)} u(\tau, x(\tau; t, x, \xi), \xi(\tau; t, x, \xi)) d\tau,
 \end{aligned}$$

where $x(\tau; t, x, \xi)$ and $\xi(\tau; t, x, \xi)$ are the solutions to (1.2).

§4. Proof of Theorem 1.4

In this section, we prove Theorem 1.4. Let t_0 be a fixed positive number. Since $\varphi_{\lambda}^{(t-t_0)}$ satisfies $(i\partial_t + \frac{1}{2}\Delta)\varphi = 0$, we have

$$\begin{aligned}
 & W_{\varphi_{\lambda}^{(t-t_0)}} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \\
 &= e^{-i \int_0^t \left\{ \frac{1}{2} |\xi(\tau; t_0, x, \lambda\xi)|^2 + \tilde{V}(\tau, x(\tau; t_0, x, \lambda\xi)) \right\} d\tau} \\
 (4.1) \quad & \quad \times W_{\varphi_{\lambda}^{(-t_0)}} u_0(x(0; t_0, x, \lambda\xi), \xi(0; t_0, x, \lambda\xi)) \\
 & - i \int_0^t e^{-i \int_{\tau}^t \left\{ \frac{1}{2} |\xi(\tau_1; t_0, x, \lambda\xi)|^2 + \tilde{V}(\tau_1, x(\tau_1; t_0, x, \lambda\xi)) \right\} d\tau_1} \\
 & \quad \times R_{\varphi_{\lambda}^{(\tau-t_0)}} u(\tau, x(\tau; t_0, x, \lambda\xi), \xi(\tau; t_0, x, \lambda\xi)) d\tau.
 \end{aligned}$$

If we replace the initial condition in (3.1) with $W_{\varphi_{\lambda}} u(t_0, \cdot)$ for $t = t_0$, then the integral equation (3.4) corresponds to

$$\begin{aligned}
 & W_{\varphi_{\lambda}^{(t-t_0)}} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \\
 &= e^{-i \int_{t_0}^t \left\{ \frac{1}{2} |\xi(\tau; t_0, x, \lambda\xi)|^2 + \tilde{V}(\tau, x(\tau; t_0, x, \lambda\xi)) \right\} d\tau} W_{\varphi_{\lambda}} u(t_0, x, \lambda\xi) \\
 (4.2) \quad & - i \int_{t_0}^t e^{-i \int_{\tau}^t \left\{ \frac{1}{2} |\xi(\tau_1; t_0, x, \lambda\xi)|^2 + \tilde{V}(\tau_1, x(\tau_1; t_0, x, \lambda\xi)) \right\} d\tau_1} \\
 & \quad \times R_{\varphi_{\lambda}^{(\tau-t_0)}} u(\tau, x(\tau; t_0, x, \lambda\xi), \xi(\tau; t_0, x, \lambda\xi)) d\tau.
 \end{aligned}$$

In the following, we write $x_{\tau} = x(\tau; t_0, x, \lambda\xi)$, $\xi_{\tau} = \xi(\tau; t_0, x, \lambda\xi)$, and $t_{\tau} = \tau - t_0$ for brevity.

Now we prove Theorem 1.4. In Theorem 1.4, (ii) yields (iii) obviously. So we show that (i) implies (ii) and that (iii) implies (i). We denote

$P(r, \varphi) :$

$$\int_1^{\infty} \lambda^{2r+n-1} \sup_{t \in [0, t_0]} \left\| W_{\varphi_{\lambda}^{(t-t_0)}} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \right\|_{L^2(K \times U)}^2 d\lambda < +\infty.$$

(*Proof of Theorem 1.4*). First we show that (i) implies (ii). Since Proposition 2.1(i) implies Proposition 2.1(ii), there exist a neighborhood K of x_0 and a neighborhood U of ξ_0 satisfying

$$(4.3) \quad \int_1^\infty \lambda^{2s+n-1} \|W_{\varphi_\lambda} u(t_0, x, \lambda\xi)\|_{L^2(K \times U)}^2 d\lambda < +\infty$$

for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$. By induction with respect to r , we show that $P(r, \varphi)$ holds for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$ and for $r \leq s$.

As basis step of induction, we show $P(-\varepsilon)$ for fixed $\varepsilon > 0$. Putting $\lambda\xi = \eta$, we have

$$(4.4) \quad \begin{aligned} & \left\| W_{\varphi_\lambda}^{(t-t_0)} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \right\|_{L^2(K \times U)}^2 \\ & \leq \left\| W_{\varphi_\lambda}^{(t-t_0)} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \right\|_{L^2(\mathbb{R}_x^n \times \mathbb{R}_\xi^n)}^2 \\ & = \lambda^{-n} \left\| W_{\varphi_\lambda}^{(t-t_0)} u(t, x(t; t_0, x, \eta), \xi(t; t_0, x, \eta)) \right\|_{L^2(\mathbb{R}_x^n \times \mathbb{R}_\eta^n)}^2. \end{aligned}$$

By change of variables $X = x(t; t_0, x, \eta)$ and $\Xi = \xi(t; t_0, x, \eta)$, we have

$$(4.5) \quad \begin{aligned} & \lambda^{-n} \left\| W_{\varphi_\lambda}^{(t-t_0)} u(t, x(t; t_0, x, \eta), \xi(t; t_0, x, \eta)) \right\|_{L^2(\mathbb{R}_x^n \times \mathbb{R}_\eta^n)}^2 \\ & = \lambda^{-n} \iint_{\mathbb{R}^{2n}} \left| W_{\varphi_\lambda}^{(t-t_0)} u(t, X, \Xi) \right|^2 \left| \frac{\partial(X, \Xi)}{\partial(x, \eta)} \right|^{-1} dX d\Xi \\ & = \lambda^{-n} \left\| W_{\varphi_\lambda}^{(t-t_0)} u(t, X, \Xi) \right\|_{L^2(\mathbb{R}^{2n})}^2. \end{aligned}$$

Here we use the fact that $\left| \frac{\partial(X, \Xi)}{\partial(x, \eta)} \right| = 1$, which is well known (see, for example Appendix A in K. Kato, M. Kobayashi and S. Ito [12] for the proof). As $u(t, x)$ is in $C(\mathbb{R}; L^2(\mathbb{R}^n))$, Remark 1.2 and the conservation of L^2 norm of solutions to the free Schrödinger equation show

$$(4.6) \quad \begin{aligned} & \lambda^{-n} \left\| W_{\varphi_\lambda}^{(t-t_0)} u(t, X, \Xi) \right\|_{L^2(\mathbb{R}^{2n})}^2 \\ & = \lambda^{-n} \left\| \varphi_\lambda^{(t-t_0)} \right\|_{L^2(\mathbb{R}^n)}^2 \|u(t)\|_{L^2(\mathbb{R}^n)}^2 \\ & = \lambda^{-n} \|\varphi\|_{L^2(\mathbb{R}^n)}^2 \|u_0\|_{L^2(\mathbb{R}^n)}^2. \end{aligned}$$

Since (4.4), (4.5) and (4.6) show

$$(4.7) \quad \begin{aligned} & \int_1^\infty \lambda^{-2\varepsilon+n-1} \sup_{t \in [0, t_0]} \left\| W_{\varphi_\lambda}^{(t-t_0)} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \right\|_{L^2(K \times U)}^2 d\lambda \\ & \leq \|\varphi\|_{L^2(\mathbb{R}^n)}^2 \|u_0\|_{L^2(\mathbb{R}^n)}^2 \int_1^\infty \lambda^{-1-2\varepsilon} d\lambda \\ & < +\infty, \end{aligned}$$

we have $P(-\varepsilon, \varphi)$ for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$.

Assuming that $P(r, \varphi)$ holds for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$ with $r \in [-\varepsilon, s - 2b]$, we show that $P(r + 2b, \varphi)$ for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$. This assertion is showed by the following lemma, which is proven in Section 5.

Lemma 4.1. *Assume A and let $b = \min \left\{ \frac{2-\rho}{4}, \frac{1}{4} \right\}$. For $r \in \mathbb{R}$, $P(r, \varphi)$ for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$ implies*

$$\int_1^\infty \lambda^{2(r+2b)+n-1} \left| \int_0^{t_0} \left\| R_{\varphi_\lambda^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \right\|_{L^2(K \times U)}^2 d\tau \right|^2 d\lambda < +\infty$$

for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$.

The equation (4.2) shows

$$(4.8) \quad \begin{aligned} & \sup_{t \in [0, t_0]} \left\| W_{\varphi_\lambda^{(t-t_0)}} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \right\|_{L^2(K \times U)}^2 \\ & \leq 2 \left(\left\| W_{\varphi_\lambda} u(t_0, x, \lambda\xi) \right\|_{L^2(K \times U)}^2 + \int_0^{t_0} \left\| R_{\varphi_\lambda^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \right\|_{L^2(K \times U)}^2 d\tau \right). \end{aligned}$$

Multiplying $\lambda^{2(r+2b)+n-1}$ to the both sides of (4.8) and integrating the both sides from 1 to infinity with respect to λ , we immediately have from (4.3) and Lemma 4.1 that $P(r + 2b, \varphi)$ holds for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$.

Next, we show that (iii) implies (i). Let $\varphi_0 \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, a neighborhood K of x_0 and a neighborhood U of ξ_0 satisfy

$$(4.9) \quad \int_1^\infty \lambda^{2s+n-1} \left\| W_{\varphi_{0,\lambda}^{(-t_0)}} u_0(x(0; t_0, x, \lambda\xi), \xi(0; t_0, x, \lambda\xi)) \right\|_{L^2(K \times U)}^2 d\lambda < +\infty,$$

where $\varphi_{0,\lambda}^{(t)}(x) = e^{it\Delta/2}[(\varphi_0)_\lambda](x)$. It suffices to show that (iii) implies $P(s, \varphi_0)$.

Since $P(-\varepsilon, \varphi)$ is valid for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$, we show $P(s, \varphi_0)$ inductively. The equation (4.1) shows

$$(4.10) \quad \begin{aligned} & \sup_{t \in [0, t_0]} \left\| W_{\varphi_{0,\lambda}^{(t-t_0)}} u(t, x(t; t_0, x, \lambda\xi), \xi(t; t_0, x, \lambda\xi)) \right\|_{L^2(K \times U)}^2 \\ & \leq 2 \left(\left\| W_{\varphi_{0,\lambda}^{(-t_0)}} u_0(x(0; t_0, x, \lambda\xi), \xi(0; t_0, x, \lambda\xi)) \right\|_{L^2(K \times U)}^2 \right. \\ & \quad \left. + \int_0^{t_0} \left\| R_{\varphi_\lambda^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \right\|_{L^2(K \times U)}^2 d\tau \right). \end{aligned}$$

Hence Lemma 4.1 and (4.9) yield $P(-\varepsilon + 2b, \varphi_0)$, which and Proposition 2.1 yield $(x_0, \xi_0) \notin WF_{H^{(-\varepsilon+2b)}}(u(t_0, \cdot))$. From the argument for the proof that

(i) implies (ii), we have $P(-\varepsilon + 2b, \varphi)$ for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$. Hence we have $P(-\varepsilon + 4b, \varphi_0)$ from (4.9), (4.10) and Lemma 4.1. The same argument as above yields that $P(-\varepsilon + 4b, \varphi)$ for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$. Repeating this argument, we have $P(s, \varphi_0)$, which and Proposition 2.1 yield (i). \square

§5. Proof of Lemma 4.1

In this section, we prove Lemma 4.1. For an integer $L \geq 2$, Taylor's expansion of $V(\tau, y)$ shows that

$$\begin{aligned}
 & R_{\varphi_\lambda^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \\
 &= \sum_{2 \leq |\alpha| \leq L-1} \frac{\partial_x^\alpha V(\tau, x_\tau)}{\alpha!} \int (y - x_\tau)^\alpha \overline{\varphi_\lambda^{(t_\tau)}(y - x_\tau)} u(\tau, y) e^{-iy\xi_\tau} dy \\
 (5.1) \quad &+ L \sum_{|\alpha|=L} \frac{1}{\alpha!} \int (y - x_\tau)^\alpha \overline{\varphi_\lambda^{(t_\tau)}(y - x_\tau)} \\
 &\quad \times \left(\int_0^1 \partial_x^\alpha V(\tau, x_\tau + \theta(y - x_\tau)) (1 - \theta)^{L-1} d\theta \right) u(\tau, y) e^{-iy\xi_\tau} dy.
 \end{aligned}$$

We denote the first term of the right hand side of (5.1) by $R_{1,L}(\tau, x_\tau, \xi_\tau)$ and the second term of the right hand side of (5.1) by $R_{2,L}(\tau, x_\tau, \xi_\tau)$. For the proof, we prepare the following lemma.

Lemma 5.1. *Under Assumption A, there exists a positive constant λ_0 such that for all integers N there exist an integer L and a positive constant C_N satisfying*

$$|R_{2,L}(\tau, x_\tau, \xi_\tau)| \leq C_N \lambda^{-N}$$

for all $\lambda \geq \lambda_0$, $0 \leq |t_\tau| \leq t_0$, $x \in K$, $\xi \in U$.

(Proof of Lemma 5.1). To prove Lemma 5.1, it suffices to show that there exists a positive constant λ_0 such that for all integers N there exist an integer L and a positive constant C_N satisfying

$$|I_\alpha(\tau, x_\tau, \xi_\tau, \lambda)| \leq C_N \lambda^{-N}$$

for $\lambda \geq \lambda_0$ and $|\alpha| = L$, where

$$(5.2) \quad I_\alpha(\tau, x_\tau, \xi_\tau, \lambda) = \int \overline{\varphi_\lambda^{(t_\tau)}(y - x_\tau)} V_\alpha(\tau, x_\tau, y) (y - x_\tau)^\alpha u(\tau, y) e^{-iy\xi_\tau} dy$$

and

$$(5.3) \quad V_\alpha(\tau, x_\tau, y) = \int_0^1 \partial_x^\alpha V(\tau, x_\tau + \theta(y - x_\tau)) (1 - \theta)^{L-1} d\theta.$$

We may assume that K and U are bounded sets and that $\inf \{|\xi| \mid \xi \in U\} > 0$. We fix α with $|\alpha| = L$. We show $|I_\alpha(\tau, x_\tau, \xi_\tau, \lambda)| \leq C_N \lambda^{-N}$ in two cases that $0 \leq |t_\tau| \leq \lambda^{-2b}$ and $\lambda^{-2b} \leq |t_\tau| \leq t_0$.

In the case that $0 \leq |t_\tau| \leq \lambda^{-2b}$, the fact that $x e^{it\Delta/2} = e^{it\Delta/2}(x - it\partial_x)$ shows

$$\begin{aligned}
 & (y - x_\tau)^\alpha \varphi_\lambda^{(t_\tau)}(y - x_\tau) \\
 &= (y - x_\tau)^\alpha e^{it_\tau \Delta/2} [\varphi_\lambda(y - x_\tau)] \\
 (5.4) \quad &= e^{it_\tau \Delta/2} [(y - x_\tau - it_\tau \partial_y)^\alpha \varphi_\lambda](y - x_\tau) \\
 &= \sum_{\substack{\beta + \gamma = \alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} C_{\beta, \beta', \gamma, \gamma'} t_\tau^{|\beta|} \lambda^{b(|\beta| - |\gamma|)} \varphi_{\beta', \gamma', \lambda}^{(t_\tau)}(y - x_\tau),
 \end{aligned}$$

where $\varphi_{\beta, \gamma}(x) = x^\gamma \partial_x^\beta \varphi(x)$ and $\varphi_{\beta, \gamma, \lambda}^{(t)}(x) = e^{it\Delta/2} [(\varphi_{\beta, \gamma})_\lambda](x)$. The equality (5.4), Schwarz's inequality, the conservation of L^2 norm of solutions to the free Schrödinger equation and of (1.1) show

$$\begin{aligned}
 & |I_\alpha(\tau, x_\tau, \xi_\tau, \lambda)| \\
 & \leq C \sum_{\substack{\beta + \gamma = \alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} |t_\tau|^{|\beta|} \lambda^{b(|\beta| - |\gamma|)} \int \left| \overline{\varphi_{\beta', \gamma', \lambda}^{(t_\tau)}(y - x_\tau)} V_\alpha(\tau, x_\tau, y) u(\tau, y) \right| dy \\
 (5.5) \quad & \leq C \lambda^{-bL} \sum_{\substack{\beta + \gamma = \alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \int \left| \overline{\varphi_{\beta', \gamma', \lambda}^{(t_\tau)}(y - x_\tau)} u(\tau, y) \right| dy \\
 & \leq C \sum_{\substack{\beta + \gamma = \alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \|\varphi_{\beta', \gamma'}\|_{L^2} \|u_0\|_{L^2} \lambda^{-bL}.
 \end{aligned}$$

In the case that $\lambda^{-2b} \leq |t_\tau| \leq t_0$, we divide (5.2) into two terms

$$\begin{aligned}
 & |I_\alpha(\tau, x_\tau, \xi_\tau, \lambda)| \\
 (5.6) \quad & \leq \int_{|y - x_\tau| \leq \lambda^{1-\delta}|t_\tau|} \left| \overline{\varphi_\lambda^{(t_\tau)}(y - x_\tau)} V_\alpha(\tau, x_\tau, y) (y - x_\tau)^\alpha u(\tau, y) \right| dy \\
 & \quad + C \int_{|y - x_\tau| \geq \lambda^{1-\delta}|t_\tau|} \left| \overline{\varphi_\lambda^{(t_\tau)}(y - x_\tau)} (y - x_\tau)^\alpha u(\tau, y) \right| dy
 \end{aligned}$$

with $0 < \delta < b$. Under the case that $\lambda^{-2b} \leq |t_\tau| \leq t_0$, there exists a positive constant λ_0 such that

$$(5.7) \quad |x_\tau| \geq \frac{d_U}{2} |t_\tau| \lambda$$

for all $\lambda \geq \lambda_0$, $x \in K$ and $\xi \in U$, where $d_U = \inf\{|\xi| \mid \xi \in U\}$ (see Appendix A in K. Kato and S. Ito [13] for the proof of (5.7)). On $|y - x_\tau| \leq \lambda^{1-\delta}|t_\tau|$, the inequality (5.7) and Assumption A yield

$$\begin{aligned} |V_\alpha(\tau, x_\tau, y)(y - x_\tau)^\alpha| &\leq C(1 + |x_\tau + \theta(y - x_\tau)|)^{\rho-L} |y - x_\tau|^L \\ &\leq C(1 + |x_\tau| - |y - x_\tau|)^{\rho-L} (\lambda^{1-\delta}|t_\tau|)^L \\ &\leq C \left(1 + \frac{d_V}{2}|t_\tau|\lambda - \lambda^{1-\delta}|t_\tau|\right)^{\rho-L} (\lambda|t_\tau|)^L \lambda^{-\delta L} \\ &\leq C(\lambda|t_\tau|)^\rho \lambda^{-\delta L}. \end{aligned}$$

Hence Schwarz's inequality, the conservation of L^2 norm of solutions to the free Schrödinger equation and of (1.1) show that

$$\begin{aligned} &|(\text{The first term of the right hand side of (5.6)})| \\ (5.8) \quad &\leq C(\lambda|t_\tau|)^\rho \lambda^{-\delta L} \int_{\mathbb{R}^n} \left| \overline{\varphi_\lambda^{(t_\tau)}(y - x_\tau)} u(\tau, y) \right| dy \\ &\leq C \|\varphi\|_{L^2} \|u_0\|_{L^2} \lambda^{\rho-\delta L}. \end{aligned}$$

Since $x e^{it\Delta/2} = e^{it\Delta/2}(x - it\nabla_x)$, we have for any integer M

$$\begin{aligned} (1 + |x|^2)^M \varphi_\lambda^{(t)}(x) &= e^{it\Delta/2} [(1 + |x - it\nabla_x|^2)^M \varphi_\lambda(x)] \\ (5.9) \quad &= e^{it\Delta/2} \left[\sum_{|\beta+\gamma|\leq 2M} C_{\beta,\gamma} (\lambda^b t)^{|\beta|} \lambda^{-b|\gamma|} (\varphi_{\beta,\gamma})_\lambda \right] \\ &= \sum_{|\beta+\gamma|\leq 2M} C_{\beta,\gamma} (\lambda^b t)^{|\beta|} \lambda^{-b|\gamma|} \varphi_{\beta,\gamma,\lambda}^{(t)}(x). \end{aligned}$$

Hence we have

$$\begin{aligned} &|(\text{The second term of the right hand side of (5.6)})| \\ &= C \int_{|y-x_\tau|\geq\lambda^{1-\delta}|t_\tau|} (1 + |y - x_\tau|^2)^{-M} (1 + |y - x_\tau|^2)^M \\ &\quad \times \left| \overline{\varphi_\lambda^{(t_\tau)}(y - x_\tau)} (y - x_\tau)^\alpha u(\tau, y) \right| dy \\ &\leq C \int_{|y-x_\tau|\geq\lambda^{1-\delta}|t_\tau|} \left(1 + (\lambda^{1-\delta}|t_\tau|)^2\right)^{-M} \sum_{L\leq|\beta+\gamma|\leq 2M+L} (\lambda^b |t_\tau|)^{|\beta|} \lambda^{-b|\gamma|} \\ (5.10) \quad &\quad \times \left| \overline{\varphi_{\beta,\gamma,\lambda}^{(t_\tau)}(y - x_\tau)} u(\tau, y) \right| dy \end{aligned}$$

$$\begin{aligned} &\leq C \sum_{L \leq |\beta+\gamma| \leq 2M+L} \int_{\mathbb{R}^n} \left(1 + \lambda^{2(1-\delta-2b)}\right)^{-M} \lambda^{b(2M+L)} \\ &\quad \times \left| \overline{\varphi_{\beta,\gamma,\lambda}^{(t_\tau)}(y-x_\tau)u(\tau,y)} \right| dy \\ &\leq C \sum_{L \leq |\beta+\gamma| \leq 2M+L} \lambda^{-2M(1-\delta-3b)} \lambda^{bL} \|\varphi_{\beta,\gamma}\|_{L^2} \|u_0\|_{L^2}. \end{aligned}$$

Since $1 - \delta - 3b > 1 - 4b \geq 0$, we have Lemma 5.1 from (5.5), (5.8) and (5.10) if we take L and M sufficiently large. \square

(Proof of Lemma 4.1). By Lemma 5.1, we have

$$(5.11) \quad \int_1^\infty \lambda^{2(r+2b)+n-1} \left| \int_0^{t_0} \|R_{2,L}(\tau, x_\tau, \xi_\tau)\|_{L^2(K \times U)} d\tau \right|^2 d\lambda < +\infty$$

for bounded set U with $\inf\{|\xi| \mid \xi \in U\} > 0$ if we take L sufficiently large. Hence we only have to show that

$$\int_1^\infty \lambda^{2(r+2b)+n-1} \left| \int_0^{t_0} \|R_{1,L}(\tau, x_\tau, \xi_\tau)\|_{L^2(K \times U)} d\tau \right|^2 d\lambda < +\infty.$$

By (5.4) and the Assumption A, we have

$$\begin{aligned} &|R_{1,L}(\tau, x_\tau, \xi_\tau)| \\ &\leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} |\partial_x^\alpha V(\tau, x_\tau)| |t_\tau|^{|\beta|} \lambda^{b(|\beta|-|\gamma|)} \left| W_{\varphi_{\beta',\gamma',\lambda}^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \right| \\ &\leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} (1 + |x_\tau|)^{\rho-|\alpha|} |t_\tau|^{|\beta|} \lambda^{b(|\beta|-|\gamma|)} \left| W_{\varphi_{\beta',\gamma',\lambda}^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \right|. \end{aligned}$$

In the case that $0 \leq |t_\tau| \leq \lambda^{-2b}$,

$$\begin{aligned} |R_{1,L}(\tau, x_\tau, \xi_\tau)| &\leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \lambda^{-2b|\beta|} \lambda^{b(|\beta|-|\gamma|)} \left| W_{\varphi_{\beta',\gamma',\lambda}^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \right| \\ &\leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \lambda^{-2b} \left| W_{\varphi_{\beta',\gamma',\lambda}^{(t_\tau)}} u(\tau, x_\tau, \xi_\tau) \right|. \end{aligned}$$

The inequality (5.7) yields

$$\begin{aligned}
& |R_{1,L}(\tau, x_\tau, \xi_\tau)| \\
& \leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \left(1 + \frac{d_U}{2} |t_\tau| \lambda\right)^{\rho-|\alpha|} (|t_\tau| \lambda^b + \lambda^{-b})^{|\alpha|} \left| W_{\varphi_{\beta', \gamma', \lambda}}^{(t_\tau)} u(\tau, x_\tau, \xi_\tau) \right| \\
& \leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} |t_0|^\rho \lambda^{\rho-(1-b)2} \left| W_{\varphi_{\beta', \gamma', \lambda}}^{(t_\tau)} u(\tau, x_\tau, \xi_\tau) \right|
\end{aligned}$$

for all $\lambda \geq \lambda_0$, $\lambda^{-2b} \leq |t_\tau| \leq t_0$, $x \in K$ and $\xi \in U$, where $d_U = \inf\{|\xi| \mid \xi \in U\}$. Since $b = \min\left\{\frac{2-\rho}{4}, \frac{1}{4}\right\}$, we have

$$(5.12) \quad |R_{1,L}(\tau, x_\tau, \xi_\tau)| \leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \lambda^{-2b} \left| W_{\varphi_{\beta', \gamma', \lambda}}^{(t_\tau)} u(\tau, x_\tau, \xi_\tau) \right|$$

for all $\lambda \geq \lambda_0$, $0 \leq |t_\tau| \leq t_0$, $x \in K$ and $\xi \in U$. The inequality (5.12) and the assumption that $P(r, \varphi)$ holds for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$ with $r \in \mathbb{R}$ show that

$$\begin{aligned}
& \int_{\lambda_0}^{\infty} \lambda^{2(r+2b)+n-1} \left| \int_0^{t_0} \|R_{1,L}\|_{L^2(K \times U)} d\tau \right|^2 d\lambda \\
& \leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \int_1^{\infty} \lambda^{2r+n+4b-1} \left| \lambda^{-2b} \int_0^{t_0} \left\| W_{\varphi_{\beta', \gamma', \lambda}}^{(t_\tau)} u(\tau, x_\tau, \xi_\tau) \right\|_{L^2(K \times U)} d\tau \right|^2 d\lambda \\
& \leq C \sum_{2 \leq |\alpha| \leq L-1} \sum_{\substack{\beta+\gamma=\alpha \\ \beta' \leq \beta, \gamma' \leq \gamma}} \int_1^{\infty} \lambda^{2r+n-1} \sup_{\tau \in [0, t_0]} \left\| W_{\varphi_{\beta', \gamma', \lambda}}^{(t_\tau)} u(\tau, x_\tau, \xi_\tau) \right\|_{L^2(K \times U)}^2 d\lambda \\
& < +\infty.
\end{aligned}$$

By (5.11) and (5.13), we have

$$(5.14) \quad \int_1^{\infty} \lambda^{2(r+2b)+n-1} \left| \int_0^{t_0} \|R_{\varphi_\lambda}^{(t_\tau)} u(\tau, x_\tau, \xi_\tau)\|_{L^2(K \times U)} d\tau \right|^2 d\lambda < +\infty.$$

□

§6. Proof of Theorem 1.5

In this section, we prove Theorem 1.5.

(Proof of Theorem 1.5). Since

$$\begin{aligned}
 & W_{\varphi^{(t)}} [Vu] (t, x, \xi) \\
 &= \int \overline{\varphi^{(t)}(y-x)} \\
 (6.1) \quad & \times \left\{ V(t, x) + \sum_{|\alpha|=1} (y-x)^\alpha \int_0^1 \partial_x^\alpha V(t, x + \theta(y-x)) d\theta \right\} \\
 & \qquad \qquad \qquad \times u(t, y) e^{-iy\xi} dy \\
 &= V(t, x) W_{\varphi^{(t)}} u(t, x, \xi) + \tilde{R}_{\varphi^{(t)}} u(t, x, \xi),
 \end{aligned}$$

where

$$\begin{aligned}
 \tilde{R}_{\varphi^{(t)}} u(t, x, \xi) &= \sum_{|\alpha|=1} \int \overline{\varphi^{(t)}(y-x)} (y-x)^\alpha \left(\int_0^1 \partial_x^\alpha V(t, x + \theta(y-x)) d\theta \right) \\
 & \qquad \qquad \qquad \times u(t, y) e^{-iy\xi} dy,
 \end{aligned}$$

the initial value problem (1.1) is transformed to

$$(6.2) \quad \begin{cases} (i\partial_t + i\xi \cdot \nabla_x - \frac{1}{2}|\xi|^2 - V(t, x)) W_{\varphi^{(t)}} u(t, x, \xi) = \tilde{R}_{\varphi^{(t)}} u(t, x, \xi), \\ W_{\varphi^{(0)}} u(0, x, \xi) = W_\varphi u_0(x, \xi), \end{cases}$$

where $\varphi^{(t)}(x) = e^{it\Delta/2}\varphi(x)$ for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$. By the same calculations as in Section 3, we have

$$\begin{aligned}
 & W_{\varphi_\lambda^{(t-t_0)}} u(t, x + \lambda\xi(t-t_0), \lambda\xi) \\
 &= e^{-i \int_0^t \{ \frac{1}{2}\lambda^2|\xi|^2 + V(\tau, x + t_\tau \lambda\xi) \} d\tau} W_{\varphi_\lambda^{(-t_0)}} u_0(x - \lambda\xi t_0, \lambda\xi) \\
 & \quad - i \int_0^t e^{-i \int_\tau^t \{ \frac{1}{2}\lambda^2|\xi|^2 + V(\tau_1, x + (\tau_1 - t_0)\lambda\xi) \} d\tau_1} \tilde{R}_{\varphi_\lambda^{(\tau-t_0)}} u(\tau, x + \lambda\xi t_\tau, \lambda\xi) d\tau,
 \end{aligned}$$

where $t_\tau = \tau - t_0$, $x + \lambda\xi(t-t_0)$ and $\lambda\xi$ are the solutions to

$$\begin{cases} \dot{x}(\tau) = \xi(\tau), & x(t_0) = x, \\ \dot{\xi}(\tau) = 0, & \xi(t_0) = \lambda\xi, \end{cases}$$

for $\lambda \geq 1$. For an integer $L \geq 1$, Taylor's expansion of $V(\tau, y)$ shows that

$$\begin{aligned}
& \tilde{R}_{\varphi_\lambda^{(t_\tau)}} u(\tau, x + \lambda \xi t_\tau, \lambda \xi) \\
= & \sum_{1 \leq |\alpha| \leq L-1} \frac{\partial_x^\alpha V(\tau, x + \lambda \xi t_\tau)}{\alpha!} \int (y - x - \lambda \xi t_\tau)^\alpha \\
& \quad \times \overline{\varphi_\lambda^{(t_\tau)}(y - x - \lambda \xi t_\tau)} u(\tau, y) e^{-iy\lambda\xi} dy \\
(6.3) \quad & + L \sum_{|\alpha|=L} \frac{1}{\alpha!} \int (y - x - \lambda \xi t_\tau)^\alpha \overline{\varphi_\lambda^{(t_\tau)}(y - x - \lambda \xi t_\tau)} \\
& \quad \times \left(\int_0^1 \partial_x^\alpha V(\tau, x + \lambda \xi t_\tau + \theta(y - x - \lambda \xi t_\tau)) (1 - \theta)^{L-1} d\theta \right) \\
& \quad \times u(\tau, y) e^{-iy\lambda\xi} dy.
\end{aligned}$$

We denote the first term of the right hand side of (6.3) by $\tilde{R}_{1,L}(\tau, x + \lambda \xi t_\tau, \lambda \xi)$ and the second term of the right hand side of (6.3) by $\tilde{R}_{2,L}(\tau, x + \lambda \xi t_\tau, \lambda \xi)$. The same argument as in the proof of Lemma 4.1 shows the assertion of Lemma 5.1 is valid for $\tilde{R}u$. That is, $P(r, \varphi)$ for all $\varphi \in \mathcal{S}(\mathbb{R}^n) \setminus \{0\}$ implies

$$(6.4) \quad \int_1^\infty \lambda^{2(r+b)+n-1} \left| \int_0^{t_0} \left\| \tilde{R}_{\varphi_\lambda^{(t_\tau)}} u(\tau, x + \lambda \xi t_\tau, \lambda \xi) \right\|_{L^2(K \times U)} d\tau \right|^2 d\lambda < +\infty.$$

In fact, the same argument shows

$$\int_1^\infty \lambda^{2(r+b)+n-1} \left| \int_0^{t_0} \left\| \tilde{R}_{1,L} u(\tau, x + \lambda \xi t_\tau, \lambda \xi) \right\|_{L^2(K \times U)} d\tau \right|^2 d\lambda < +\infty,$$

since $\rho < 1$. Exactly the same proof as for $R_{2,L}$ is valid for $\tilde{R}_{2,L}$. By using (6.4), we can show Theorem 1.5 in the same procedure as in Section 4. \square

Acknowledgements

The authors would like to thank the referee for giving us many useful comments.

References

- [1] A. Córdoba and C. Fefferman, *Wave packets and Fourier integral operators*, Comm. Partial Differential Equations **3** (1978) 979–1005.

- [2] W. Craig, T. Kappeler and W. Strauss, *Microlocal dispersive smoothing for the Schrödinger equation*, Commun. Pure and Appl. Math. **48** (1995), 769–860.
- [3] J.-M. Delort, F.B.I transformation. Second microlocalization and semilinear caustics. Lecture Notes in Mathematics, **1522**. Springer-Verlag, Berlin, 1992.
- [4] S. Doi, *Smoothing effects for Schrödinger evolution equation and global behavior of geodesic flow*, Math. Ann. **318** (2000), 355–389.
- [5] S. Doi, *Commutator algebra and abstract smoothing effect*, J. Funct. Anal. **168** (1999), 428–469.
- [6] G. B. Folland, Harmonic analysis in phase space, Princeton Univ. Press, 1989.
- [7] P. Gérard, *Moyennisation et régularité deux-microlocale*, Ann. Sci. École Norm. Sup. **23** (1990), 89–121.
- [8] A. Hassell and J. Wunsch, *The Schrödinger propagator for scattering metrics*, Ann. of Math. **162** (2005), 487–523.
- [9] L. Hörmander, The analysis of Linear Partial Differential Operators I, Springer, Berlin, 1983.
- [10] K. Horie and S. Nakamura, *Propagation of singularities for Schrödinger equations with modestly long range type potentials*, Publ. Res. Inst. Math. Sci. 50 (2014), no. **3**, 477–496.
- [11] K. Kato, M. Kobayashi and S. Ito, *Remark on wave front sets of solutions to Schrödinger equation of a free particle and a harmonic oscillator*, SUT J. Math. **47**, No.2, (2011), 175–183.
- [12] K. Kato, M. Kobayashi and S. Ito, *Estimates on modulation spaces for Schrödinger evolution operators with quadratic and sub-quadratic potentials*, J. Funct. Anal. **266** (2014), 733–753.
- [13] K. Kato and S. Ito, *Singularities for solutions to time dependent Schrödinger equations with sub-quadratic potential*, SUT J. Math. **50**, No.2, (2014), 383–398.
- [14] K. Kato, M. Kobayashi and S. Ito, *Remark on characterization of wave front set by wave packet transform*, Osaka J. Math. **54**, No.2, (2017), 209–228.
- [15] R. Lascar, *Propagation des singularité des solutions d'équations pseudo-différentielles quasi homogènes*, Ann. Inst. Fourier, Grenoble **27** (1977), 79–123.
- [16] S. Nakamura, *Propagation of the homogeneous wave front set for Schrödinger equations*, Duke Math. J. **126** (2005), 349–367.
- [17] S. Nakamura, *Wave front set for solutions to Schrödinger equations*, J. Funct. Anal. **256** (2009), no. 4, 1299–1309.

- [18] S. Nakamura, *Semiclassical singularities propagation property for Schrödinger equations*, J. Math. Soc. Japan, **61** (2009), 177–211.
- [19] T. Ōkaji, *A note on the wave packet transforms*, Tsukuba J. Math. **25** (2001), 383–397.
- [20] T. Ōkaji, *Propagation of wave packets and its applications*. Operator Theory: Advances and Appl. J. Math. **126** (2001), 239–243.
- [21] C. Parenti and F. Segala, *Propagation and reflection of singularities for a class of evolution equations*, Comm. Partial Differential Equations **6**(7) (1981), 741–782.
- [22] T. Sakurai, *Quasi-Homogeneous wave front set and fundamental solutions for the Schrödinger Operator*, Sci. Papers of Coll. General Edu. **32** (1982), 1–13.
- [23] L. Robbiano and C. Zuily, *Microlocal analytic smoothing effect for the Schrödinger equation*, Duke Math. J. **100** (1999) 93–129.

Fumihito Abe

Department of Mathematics, Tokyo University of Science
Kagurazaka 1-3, Shinjuku-ku, Tokyo 162-8601, Japan
E-mail: 1119701@ed.tus.ac.jp

Keiichi Kato

Department of Mathematics, Tokyo University of Science
Kagurazaka 1-3, Shinjuku-ku, Tokyo 162-8601, Japan
E-mail: kato@rs.tus.ac.jp